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Note: All questions are compulsory. Carrying of mobile phone during examinations will be treatg:g pTR

case of unfair means. Attempt all the questions in sequence. Scientific calculator is allowed. L
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1. Calculate the displacement of fringes when a transparent thin film is intrg&l}ced in gﬁ‘%}path of

one of'the interfering beams in biprism. & s -a:;h;.-;? 3
& ’*wr( [marks 3, CO-1]
2. White light falls normally on a soap film whose thickness is Sx’l g’m vaﬁd u= 1.33. Which

wavelength in the visible region will be extinct?

[marks 3, CO-2]

3. In Newton’s ring experiment the wavelength of llght used is, 6x10 = ¢m and the difference of

square of diameters of successive rings is 0. 125x10 #m%, What ‘will happen to this quantity if (a)
the wavelength of light is changed to 4.5x10%¢m? b)'"l"l“’ie liquid of refractive index 1.33 is
introduced between the lens and the glass platef? (c) The radius of curvature of convex surface of

the plano-convex lens is doubled?

[marks 3, CO-2]

4. Describe Fraunhoffer diffraction;;.giue- t§:~'a§.j§'i-ngle slit and deduce the positions of maximum and
minimum. Draw the representative‘graph of intensity distribution.

[marks 3, CO-1]

5. The distance between the €0 nt sources is 0.3mm and the screen is 90cm form the sources.
The second dark band is 0 3cm form central bright fringe. Find the wavelength and the distance

of the 4™ bright frmge from the central bright fringe.
[marks 3, CO-2]




